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| Semester M.Com. (FA) Examination, January/February 2019
(CBCS)
F‘aper ~1.4: MAN&GEBEAL Flf%ﬁ;fﬂﬁﬁ

fhar. Warvs : 70

Time : 3 Hours

Instructlon : Answor all Sections.

SECTION ~ A

1. Answer any 7 sub-questions. Each sub-question carrigs 2 marks ; (7»2=14)
a) Whatis a warrant 7
b) Name the different dividend decision tﬁ&&ﬁ%ﬁ |
¢) Name two sources by which wsrffmg {za;}stai can bﬁ fiﬂaﬂ{}“{j
d) Whatis margina! cost of capital ? '
e) Define capital budgeting.
fy Whatis dividend ;:;oﬁcy ?

g) Give the meaning of iRF(

h) What is finance function 7

i) What is discounted pa /t:ac? 3"
{) Whatis EBITDA ? -
S&CT 10}
Answer any 4 questions out of 6 queaims E&ﬁ ques&:m carries 5marks :  (4x5=20)
2. Define options. Differentiate hatween opﬁ:é 1S and wafrants

3. Whatis financial leverage ? What are ihé‘} meassfes of financial leverage ?
: P.T.0.
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4. What are the factors to be censide’v d while pfanning capital structure ?

5. Distinguish between profit maximisation and wealth maximisation.

6. The closing price of a share last ye‘ r was Rs. 50. The dividend per share was
Rs. 5 during the year. The current year closing price is Rs. 150. Calculate the
percentage return on the share, showing the dividend yield and the capital
gain rate. ~

7. The Servex Company has the foﬂéﬁ?ing capital structure on 30 June 2014 :

B (Rs “000)
Ordinary shares (200,000 shareé) » 4,000
10% Preference shares “ 1,000
14% Debentures 3,000
8,000

The share of the company sells;

50 percent tax rate.
You are requxred to:

a) Compute a weighted average st of capital based on the exzstrng capital
structure.

b) Compute the new weighted average cost of capxi:at if the company raises
an additional Rs. 20,00,000 debt by issuing 15 percent debenture. This
would result in increasing t xpected dividend to Rs. 3 and leave the
growth rate, unchanged, but the;;price of share will fall to Rs. 15 per share

 (b) above if the growth rate increases to

c) Compute the cost of capital if i
10 percent. A

'SECTION-G

Note : Answer any 3 questions. Each:fuestion carries 12 marks :

8. Assume that you have been approached by a company to create corporate
financial policy. How do you create corporate financial policy ?

9. Discuss the factors to be conszdered while managing working Gapsta
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s. 20. Itis expected that company will pay next
year a dividend of Rs. 2 per share, Whiuh will grow at 7 percent forever Assume a

(3x1 2--:36)'
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10. Consider the fol| owmg projects :

Cash Flows (Rs in lakhs)
- Projects c, c WWE:* c, 1 ¢
. A 1000 | +600 | +200 | +200 | +1,000 |
B | ~1,000 | +200 ~ +600 | +1,000
i c 300 |+ 100 +100 | +600 |
D -~ 300 S ¢ + 300 + 600

a) Calculate the paybaci{ period for each%oject

b) If the standard payback period is 2 years, which project will you select 7
Will your answer be different if the standard payback is 3 years ?

c) If the cost of capital is 10 percent, compute the discounted payback
for each pro;es’t ? Which pro;ects will you recommend if the standard
_payback is : -

i) 2years;

ii) 3years ?

d) Compute the NPV of each project ass
- projects will you recommend ?

ng cost of capital @ 10%. Which

11. An engineering company is considering rts workmg capital investment for the
next year. Estimated fixed assets and current liabilities for the next year are
respectively Rs. 2.60 crore and Rs. 2.34 crore. Sales and profit before interest’
and taxes (PBIT) depend on current assets investment —particularly inventories
and book debts. The company is exarnmzng the following alternative working
capital policies.

 Working T Investment Estimated EBIT
* Capital Policy in Current (Rs. in crore)
Assets /
__(Rs.incrore) |
Conservative 4.50 1.23 J
Moderate 3.90 1.15
Aggressive | 260 1.00

You are required to calculate the following for each policy :
a) Rate of return on total assets, |
b) Net working capital position |
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c) Current ra’tao and
the ihfee pahmes‘

12 A comrsany is considering to r: 2,00,000 to finance modernization of its
_plant. The following three fcnanci ternatives are feasible :

i) The company may issue 20,00043hares at Rs. 10 per share

;;) The company may issue 10,0 ?shafea at Rs. 10 per share and

- 1,000 debentures of Rs. 100 de ,mmatzcn bearmg a 14 percent rate of
interest. ' |

iii) The ccmpany may issue 5 000 shares at Rs. 10 per share and 1,500
debentures of Rs. 100 tions bearing a 14 percent rate of interest.

If the Company's profits before interest are (a) Rs. 5,000, (b) Rs. 12,000,
(c) 25,000, what are the respectwe, ings per share, rate of return on fotal capital
and rates of return on total equi |, for each of the three altematives 7 Which
alternative would you recommer nd why 71t th’e ‘c‘orparate tax rate is 35
percent, what are your answers t th

the difference in your answers
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